t—F1r 25X SERC=EANAE
£ BF >»
BT BEE BRE BRE BEE BHEE BRE
(002) (003) (005) (006) (007) (008) (010)
BHE
(001)
h LE < EAETE D
000=14m X 8.5m(80 44 I %)
001=4.5m X 3.5m
002="7.0m X 4.5m
003=4.5m X 3.0m
s 005~010=4.5m X 2.5m
E(Io%o? fi = M S ITe%E L b 3.0m
<= (BBFIWHRAD)
HHE AF—L—L4
< 1F >
BE wE | TIAN—h IS4
€:)) (%) ~—Fk
0000 TSAR—k
|| WC < UuP
D >
| lwc
- |_ CHIFR D ZRA D>
BBE O UL K 40 &k
1971493y < Up QK= /1= 10 =
(RFEAZ- A L)
N xH @ L= /K1, /N8
Q@ ERIBE /B LFK 1=
@5 < b HAFHIEER
GRB)
BE (404)
£ 2F >
T= b BE
(202) (203) (205) B= = TE = = BE
—| (206) (207) (208) (210) (211) (212)
BE DN >
(201) EE
(200)
N R —




